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SECTION - A
i) General Awareness

Which of the following is a folk dance 7
(A) Garba

(B) Bharathanatyam

(C) Kathakali

(D) Kuchipudi

Who is the current Chief Justice of the
Supreme Court of India ?

(A) Altamus Kabir

(B) Aftab Alam

(C) H.L.Dattu

(D) G.S. Singhvi

The Nagar style of architecture
developed mostly in

(A) Morth East India

(B) North India

(C) Norith West India

(D) Southindia

The latitude difference bstween India
and Pakistan for their standard time is

(A) 7°
(B) 7.5°
(C) &
(D) 85°

Which Indian State has the highest
literacy rate 7

(A) Lakshadweep
(B) Andhra Pradesh
(C) Kerala

(D) Mizoram

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

6.

10.

In whose reign, did Kalidas flourish ?
(A) Chandragupta Maurya

(B) Chandragupta Vikramaditya

(C) Kumara Gupta

(D) Skanda Gupta :

The retreating monsoons occur during
two months of

(A) January-February
(B) March-April

(C) June-July

(D) October-November

Rapid and inclusive growth was the
core theme of Eleventh Five Year Plan.
What was its period ?

(A) 1951 - 1956
(B) 2008 -2013
(C) 2006— 2011
(D) 20072012

East India Company was established in
{A) 1576 A.D.
(B) 1600 A.D.
(C) 1605 A.D.
(D) 1857 A. D.

Prathibha Ray, who was named for
Jnanpith Award is a famous
writer.

(A) Odia (Oriya)
(B) Bengali

(C) Hindi

(D) English

_—
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i1,

12.

13.

14.

15,

Standard 18 — carat gold in the markst
contains

(A) 82 paris gold and 18 parts other
metals
9 parts gold and 15 parts other
metals

18 parts gold and 6 parts other
metals

18 parts gold and 82 parts other
metals

(B)
(C)

(D)

Fundamental Rights are enumerated in
which Part of the Indian Constitution 7

(A) Partl
(B) Parilll
(C) Partll
(D) Partlv

Which Plan was ratified as Indian
Independence Act, 1947 ?

(A) Cabinet Mission Plan
(B) Mountbatten Plan

(C) Wavell Plan

(D) Cripps Mission Plan

With which sports is Yogeshwar Dutt
associated ?

(A) Hockey
(B) Shooting
(C) Boxing
(D) Wrestling

Who among the following introduced the
permanent settlement of Bengal ?

(A) Warren Hasting

(8) Lord Willium Bentinck
(C) Lord Cormwallis
B

(D)

Loard Dalhousie

186.

j

18.

18.

20.

0O 5 0 50 0 0

From which Constitution, directive
principles of state policy have been
borrowed ?

(A) British Constitution

(B) Irish Constitution

(C) Constitution of U.S.A.

(D) Constitution of Canada *

Which is the richest temple in India ?
(A) Shirdi Sai Baba Temple

(B) Balaji Temple of Tirupathi

(C) Jagannatha Temple of Puri

(D) Padmanabha Swamy of
Thiruvananthapuram

Which of the following is the currency
used in China ?

(A) Lira
(C) Yen

(B)
(D)

Yuan
Rouble

Under which Article of the Indian
Constitution, a general direction to the
Union and State Governments is
given for giving special consideration
to the members of the scheduled
castes and scheduled tribes consistent
with the maintenance of efficiency in
administration 7

(A) Article 335
{C) Arficle 345

(B)
(D)

Article 325
Article 355

Who was crowned as ‘Miss World 2012’
on Aug. 18, 2012 in the inner Mongolian
city of Ordos ?

(A) Ms. Wenxia Yu

(B) Ms. Vanya Mishra
(C} Ms. Olivia Culpo
(D) Ms. Sophie Moulds
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(B)

(C)
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(D) E SR
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16.

17.

18.

19,

20.
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(A) et am aEn a
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(D) §AErAl oS
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21.

22.

23.

7 O S0 0 g

if) General Intelligence and Reasoning Ability

if1iscodedasP,2asY,3asK, 4asV,
oasF.Basl,7asS,BasHandSas N,
which of the following is the coded form
of 39164 ?

(A) KMPLV
(B) KNPFV
(C) KNPLV
(D) KHPLV

Suresh is 7 ranks ahead of Ashok in
the class of 39. If Ashok's rank is 170
from the last, what is Suresh’s rank from

the start 7
(A) 135
(B) 186
(C) 30
(D) 28

In the series given below, how many
gven numbers ars immediately preceded
by & as well as immediately followed
by3?

BE56838436736432864682663

(A) 1

(B) 2

{B) 3

(D) 4

24,

25.

26.

27.

Latest Sarkari Jobs, Govt Exam Results, m
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If ‘water is called ‘food', food’ is called
tree’, tree’ is called ‘sky’, ‘sky’ is called
‘well’, on which of the following grows
afruit ?

{A) water '

(B) food

(C) ‘tree

(D) sky

Which is the one that does not belong
to the group ?

(4) Passenger

(B) Driver

(C) Captain

(D) Piict

I+ means ', “ ' means '+, ' means '
and'+"'means '+, then9+8 + B=4x8="7
(A) 26

(B) 17

(C) 65

(D) 11

‘Rich’ is related to 'poor’ in the same
way as roof is related to __ ~

(A) Walls

(B) Terrace

(C) Pillars

(D) Floor
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2 Emdassisad s mEEag? (B) mH
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(D) FAFEHF
(B) KNPFV
(C) KNPLV 25 FEIAFR T F IR A AT AR S ¢
(D) KHPLV o el
(B) =
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Fpufaed Rt | | (o
2. &l 'y FiHgeE <7, - wmEGeE v,
{A].' 15 ‘Xjaﬂw‘—.w‘+?ﬂw;+1
B) 16 .78 04+8+8-4%x9=7
() 30 (A) 26
(D) 29 (B) 17
SN (C) 65
23, A4 A ymen ®, i w a6 | 0) 11
EAE e e g b o G e > &
< 07. ‘miE ‘s @ weEfu R E 36 W
£656839436736432864682663 ki
(A) 1 (A) FER
(B) 2 (B) <=
(C) 3 (C) TawIFTE
(D) 4 IEEEEE
Ax o

Vacancies and updates on one click

Latest Sarkari Jobs, Govt Exam Results




JDD-46/TGT-URDU/X-14

28. Which is the one that does not belong

to the group ?

(A) Lactometer
(B) Perimeter

(C) Thermometer

(D) Voltmeter

29. Bipin is taller than Ramnath who is
shorter than Ahmed, Mohiddin is taller
than Sheik but shorter than Ramnath.
Ahmed shorter than Bipin. Who is the

shortest ?
(A) EBipin
(B) Ahmed

(C) Ramnath

(D) Sheik

30. Inacertain code language ‘Sau Pey Te'
means Doctor Vinod Kumar. Ting Pu Sau’
means ‘Sathish is Doctor. ‘Ping Pong Ting'
means 'Sathish and Ram'. Which word

in that language means 'is' ?
(A} Sau
(B) Pey
(C) Pu

() Ting

Latest Sarkari Jobs, Govt Exam Results, m
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Directions (31-34) : In each question below is
given a statement followed by two assumptions
numberad | and ll consider the Statement and
both the Assumptions following it together
and decide which of the assumptions each
implicit in the statement ? Give answer.

(A) I only assumption | is implicit

(B) If only assumption Il is implicit

(C) [f either | or Il is implicit

(D) If neither | nor Il is implicit

31. Statement : If you have the experiise,
we have the job for you.

Assumptions | : You have the expertise,

Il : We need a person with
axpertise.

32. Statement : The patient's condition
continues to be critical even after a
successiul operation.

Assumptions| : The patient’s condition
was not critical before
operation.

Il : The patient’s condition
could not have improved
without a successful
operation.

33, Statement: Government has permitted
private doctors to increase their fees.

Assumptions | : Private doctors are in
financial difficulties.

Il : Government doctors do
not need to increase
fees.

-

34, Statement : Opening a post office in
Khabil is wasteful.

Assumptions | :Inhabitants of Khabii
never need post office.

Il : There is an adequate
number of post offices
in Khabil.

.
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29,

(A) FFHI
(®) ity

(C) wHHIR
(D) deeHi

s e S m=d s
HETE F HE A B E, AR FaE vE
FFa Y o & A TR S S S B
Tieme AT S s g s
T BT g FI R & 7

Ay T
(B) swEwe
(C) T
(D) /@

ws i wiehfash Wi 8 ‘Sau Pey Te' &1
Heer Doctor Vinod Kumar @ | Ting Pu Sau’
#1 Hae™ ‘Sathish is Doctor’ 2| ‘Ping
Pong Ting' ¥ Hdad ‘Sathish and Ram’
BT AMI AN TS s R ?

(A) Sau

(B) Pey

(C) Pu

(D) Ting

JDD-46/TGT-URDU/X-14

9 (31-34) : 1 fow e vy F & o

31 11 3t et & st S awomait 3T W fEr
=Hifsr aom e 4 e aron = snim e d wae
ot o of s difent |

(A) afe Fae uron | s=ffRa R
) =fa Fas uron || st 2 |

(C) AR arom | 3 uRon || FERaE |
(D) =i el o3 2 grom))

31,

32.

11
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35. Which one does not belong to the group 7

(A) Gentle
(B) Polite

(C)
(D)

Civil

Religious

36. In a certain code language, PARENTS

is written as RCTGPVU. How is

CHILDREN written in that code 7

(A) EJKNFGTO
(B) EJKNFTGP
(C)
(D)

EJKNFHTP

EJKNFGTP

37. lwent15 mito the north, then tumed west
and covered 10 m, then turned south
and covered 5 m and then turmed east

and covered 10 m. In which direction

am | now from my starting point ?
(A) North
(B) South

(C) East

(D) West

Latest Sgrkari Jobs, Govt Exam Results,
Vacancies and updates on one click

as.

38.

40.

0. R 5

The positions of how many alphabets
will remain the same if each of the
alphabets in the word FRIENDS is
rearranged in the alphabetical order
from left to right 7

(A) None
(B) One

(©)
()

Two

Three

1 is subtracted from each odd digit and
{ is added to each even digit in the
number 4873529, Which of the following
will be the difference between the
second digit from the left and the third
right from the right of the new number
thus formed 7

(A) 3
(B) 4
(C) 3
D) 2

Which of the following will come in
place of the question mark ?

xVU WUT VTS USR?°
(A) TSQ
®) TRQ
(C) SQP
(D) TVW
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35. FadasRuITEagEHaTiaaaiamm | 38. 4ft wse FRIENDS ® Wei® e &1 ar
B fm 7 fohaa el ) ffa sfafa @t ?
©) R (A) TF R '
(D) =i P, S
(C) &

36. UH fAfam arsfas W § PARENTS &1

. (D) o=

RCTGPVU & &9 | fera1 ST &
CHILDREN =1 35 =i o &4 foman 39. 4873529 H Urds faww afi & 1 B =2
s 7 WY 3 99 IAH A 1 H o1 I | T
(A) EJKNFGTO v Fiftfe =t e & o | g o F AR
(B) EJKNFTGP 2Rl & A o s e A g g
(C) EJKNFHTP W, =
(D) EJKNFGTP B 4

(C) 3

37. #1547, 3ot 3w, e ufam = s % @
(

HE1 3 10 #t. Fi g 73 1, e el #
gm s A g f o fmgd | 40, T F @ werares o Foum WA &

fem s ger s 10 #, Mgl | e ¢
# a7 o7 wrive fag @ fra e g 7 XVU WUT VTS USR?
(A) I (A) TSQ
(B) wfemm (B) TRQ
(c) (C) SQP
(D) ufam | (D) TVW
A+ 13
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lii) Arithmetical and Numerical Ability

41, (18)°—(4)° - /676 + 2! = (22 45. Raju purchased a TV for T 8,200 and
(A) 3 sold it at the gain of 25%. From that
(B) 9 amount he purchased ancther TV and
(C) 81

sold it at a loss of 20%. What is his
) 12
®) overall gainfloss ?

42. What is the fiftyfive percent of two fifth (A) Loss of ¥ 140

of 1200 ?

(A) 284 (B) Gainof ¥ 120 ;
e (C) Lossof T 150

{C) 248 _

(D) 264 (D) Neither gain nor loss

43. Area of a square is three fifth the areaof | 48, What value will be obtained if the sgquare
a rectangle. The length of the rectangle

: of 23 is subtracted from the cu beofg?
15 25 cms and its breadth js 1 Deémsless .

than its length. Find the perimeter of the (A) 200
square.

(A) 80cms ) 8
(B) 44coms (C) 240
(C) 60 cms ' D) 140
(D) 56cms

44. The average speed of a train js | 47- Thelengthof arectangleis 16 cm which

41/, times the average speed of a tractor. Is 2 cms more than the diameter of a
Which covers 384 kms in 15 hours. How
much distance will the train cover in

circle. What is the area of the circle 7

-

12 hours ? (A) 112sqg.cms
A) 1 k

:B; 12:2 kr:: (B) 176sq.cms
(C) 1406 kms (C) 154 sg.cms
(D) 1460 kms (D) 132sq. cms
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41.

42.

43.

A*

(13)% - (4)® - /676 + 2" = (?)°
(A) 3
(B) 9
(C) 81
(D) 12

1200 %1 95 %1 55% a2 7
(A) 284
(B) 254
(C) 246
(D) 264

TF =1 F1 STFS UF A9A F HIE F
. . 4
Ve 2 | s & e 25 S B AW

W AR TEE g 109,11, F92 |
31 =1 ufaTg 3 il |

(A) B80H.HI.
B) 44d.%
(C) 60H.HI.
(D) 56F.H.

e 34 1 37 i U St =1 Hea T
&1 41/, TR S T 1692 H 384 AL
i ol 7 A1 # 1 39 12 921 | a1 g0
= w7

(A) 1396 5.t
(B) 1296 ..
(C) 1406 ..
(D) 1480 .11

-15
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45, T 1UH . 8,200 1 Wit 3R 25%

46.

47,

o u Ay T | 3 T8 3w g
it e 741 20% % FHE TIH 9
faar | 3ok wam oy e e | 7

(A) % 140FrEf

(B) ¥. 120 F1EH

(C) % 150F =

(D) FArEm AR T A

9F g H § 23 % 97 &I 92 | T I
He T gt 7

(A) 200

(B)
(C) 240

300

(D) 140

afe s aad o wears 16 € 1. 8,
FEaFEEE 28 A TR g
IR TR B 1

(A)

-

112 mrd
(B) 176 T@ECH.H,
(C) 154 TwmTH. .

(D) 132 F@rEE..
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48.

48,

50.

The ratio between the present ages of
Preethi and Geetha is 3 : 8 respectively.
After 8 years Preethi's age will be
20 years. What was Geetha's age 5
years ago ?

(A) 37 years

(B) 28years

(C) 27 years

(D) 38years

The simple interest accrued in 4 years
on a principal of ¥ 25,000 is two tenth

of the principal. What is the rate of

simple interest per annum ?
(A) 4%
(B) 5%

(C) 6%

(D) E}’; %

, 1 : :
If Vinay was 3 @s old as Vikas five

years back and Vinay is 17 years old
now, how old is Vikas now ?

(A) 3Byears
(B) Byears
(C) 51years

(D) 41years

a1,

22,

Two taps can separately fill a tank in 12
and 15 minutes respectively. The tank
when full can be emptied by a drain pipe
in 20 minutes. When the tank was
empty, all the three were’opened
simultaneously. In what time will the tank
be filled up ?

(A) 10 minutes
(B) 15 minutes
(C) 5 minutes

(D) 12 minutes

18 workers by working 8 hours per day
take 16 days to complete a job. How
many days are required for 24 workars
of the same capacity to complete the

same job by working 6 hours per day ?
(A) 18 days
(B) 16 days
(C) 12 days
(D) 22days

P:Q=3:40:R=5:3P:Q:R=?

(A) 20:15:12
(B) 20:12:15
(C) 15:20:12
(D) 12:20:15

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




o

| 0 0 S 0 O
48, it af fiar & adE g F #= W=

50.

A FHI: 3: 82 | 8N & &8 Wit A
#A1g 20 9 ERT1 | 5 39 gEe Tar B 3g
Tapeedt oft 7
(A) 379
(B) 2899
(c) erad

(D) a8

4TS HE, 25,000 % FeTHH 1 ATAd AT
Wwﬁg’{ﬂ%mﬁaﬁmm
fmame?

(A) 4%

(B) 5%

(C) 6%

(D) 6%

fy ot o v e P
I o1 3 s Af faa i I 1 7 9
. 4t faspre i e SRR 7

(A) 369

(B) 9Hm=

(C) 515

(D) 419

o
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53.
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FTAFAM: 12 37K 15 e | a1 e
T SFH L EFA S I RN EFF 20
T o v T o g @reft o
T HFA| & | S oo G o, T Al Jal
1 v Y @ren 7 | e e A dE
S ¢
(A) 1o0fme
B) 152
(c) s5fme

(D) 12T

s FE Qo W 18 FHE 8 W
gt %m0 gu 16 a7 a8 | 6 6
afafes s et 5T 36T s % 24 A
1wt s g ¥ R e R
ST A ?

(A) 18T

(B) 16%

() 12f=

(D) 22%A

P:Q=3:4,Q:R=5:3,P:Q:R=7
(A) 20:15:12
(BY 20:12:15
(C) 15:20:12

(D) 12:20:15
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54,

535,

56.

57.

A*

Two numbers are inthe ratio 3; 4. If & is
added to each, the new ratio will be
4 - 5. Find the numbers.

(A) 15and 20
(B) 18and?24
(C) 12:16

(B)
The ratio of the volumes of two spheres

is 64 : 27. What is the ratio of their
diameters 7

(A) 8:86
B) 2:3
(C) 8:3
(D) 4:3

None of these

The fatj.:aﬁ.nah.leofashareia T 100, itis
sold at a premium of ¥ 5. The company
has declared a dividend of 10%. If
¥ 26,250 is invested in this share how
much dividend does this investment get 7
(A) ¥ 2,500
(B) T 2,600
(C) T 2.000
(D) T 2,400

95 numbers are in arithmetic progression.
The number in the middle is 20. Find
the sum of all these 25 numbers.

(A) 400
(B) 500
(C)
(D)

600

cannot be determined

=18

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click m

58.

58.

60.

E =i which number replaces the
7 .64

question mark sign ?
(A) 60

(B) 56

(C)

(D)

0 -7 QR - N N

A person travels 6 kms to the south.
From there he travels 5 kms to the east.
From there he travels 18 kms to the north.

How far is ha from his starting point ?
(A) 12kms
(B) 17 kms
(C) 13kms

(D) 23 kms

u



_Eh_-—

| T 00 0 O 0
54, FEEAMW3: 4% S d € | aR e A

56.

or.

6 SIST 1 , 4 71 T 4 : 5 &M |
TS T il |

(A) 1537 20

(B) 183 24

(C) 12:16

(D) ¥ A I3 off 7

3 Tiel & AT FT SFHIW 64 : 27 B |
I AT F ST HTE 7

(A) B:6

B) 2:3

(C) 8:8

(D) 4:3

UF N AT YEA 5, 1002 1 98 . 5
% HiEe WaE S e | ST 10% =
AT =g TR € ) afE o S |
¥. 26,250 %1 My fF o 8, 99 5w
T o foraa wmaie fasrar s 7

(A) ¥.2,500
(B) ¥ 2,600
(C) ¥.2,000
(D) %. 2,400

T[T A9fi § 25 He # | " A gen
20 % | 57 @1 25 HEAH! F1 AR T
e |

(A) 400
(B) 500
(C) 800
(D) Tratha =i fEm = wwa

-19-

58.

59.

60.
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i?:% wH fom & v wEh W@
wET s 7

(A) 60

(B)
(C)

(D)

56

66

A | =
| =

s Jf B

(C)

Bl Bla

(D)

us s i R 4 ofit 6 fRAf R
T T 8 | F8T | as 5 . i 7 ain
I a1 ¢ | 59 8 38 18 . smA
T AT FA 8 | IR g 8 9w R
qhwe?

12 f6. .

17 f%. 4%

(C) 13T, Hi.

(D) 23fF. .

-

(A)
(B)
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61.

62.

Ax

T 5 0 A

iv) Test of Language : Hindi

‘“FHAE F S T8
(A) FE
(B) Hawl

(C) FmHER

(D) =5
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B4, ‘zhnoTeEl TEEEAR F ISR
(A) ST FT
(B) FFHWH TEA LA
(C) HEITHHIFA

(D) =T E T

B5. Eleial = aodd 1154
(A) FTE
(B) F=
(C) et
o) =
66. &8I =l dcad 155
(A) =B
B) &=
(C) =8

D) €3




67.

63,

___,.nr""'——h

68.

70.

‘g e W Em e
(A)

() W

(c) Tawern

(D) 3@

EEETES eI S
(A) =TT

(B) et dA

(C) FFEN

(D) EFFEH

‘T s w e
(A) TR
(B) TEm

(C) T
(D) =&

‘T RS & HiEaE S 9
(A) TR
(B) ==
(©) ==

(o) ==0

f

71.

72.

73.

4.
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‘T’ e 0 fogedsr v
(A) &=
(B) AT
(C) &

(D) T

‘wfiafe’ v = foweds v=
(A)
(B) gl
(C) A
(D) R

‘Aot e T e =Y
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75. W& e & | 9El a9 IR |
(A) T

Preferfiaa e T i e T R el %
Enidrgiccid

UL SRR S TR H AT 8 ST
T A TR | 3TN 3 e o e A
= o w1 S TEA S | 9E S
TR AT | IR ArE Agd e ameR
s T i e | e R 2
= =y FaTos 721 SUAl | THE HH AL
o YT FUEE T IIE § | 36 =W
ey i 2 ed T WEId BY |

76. W@ e fHET AR A fora 8 7
(A) EH
(B) wfE
(C) =9

78.

78.

80.

0 A TR
F1E T Y] TEFAR
(A) =T
| Fimwrl
(C) =T
(D) FHATH

TR 3 T ST HITTesh ST T 7
(A) aTEd

(8)

(C) wmwEd

(D) IS

R fopmd wiy org Toran 7
(A) wsEfl

(B) SAERTETll

(C) SETAmR

(D) T

T i R e 7
(A) TeE=el ‘
(B) T

(c) TR E

(D) AR
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v) Test of Languagq : English
wraT afteron ; S

Directions (81-83) : In the following | Directions (84 and 85) : Choose the-wﬁﬁ
questions, four alternatives are given for | phrase which is most nearly the same in
idioms/phrases in capitals. Choose the one | meaning to the key word. |
which best expresses the meaning of the :
idiom/phrase given in capitals. Eh. Alllde -
(A) behaviour
81. The two women are {ealous that AT )
5 THE DROP OF A HAT they start ol i
| insulting each other (C) height
; (A) when a hat falls (D) position
' (B) when every one drops a hat 85. Plunder
I (C) for no reason at all (A) give up meekly
(D} on every occasion (B) take away forcibly
2. Ravanawas sointerested in getting Sita (C) attack furiously
that he did not mind whether he got her (D) maks serious mistake
BY FAIR MEANS OR FOUL. Dirsctions (86-88) : The following sentences
(A) inany way, honest or dishonest | have/do not have errors. Find out which part
(B) without difficulty of the sentence has an error. If there is no error
(C) without using common sense your answer is D.
(D) having been instigated 86. The house with all its (A) /
v 83. Without realising that he was getting furniture and exotic plants (B) /
himself INTO DEEP WATER, Deepak were sold for #50,00,000 (C) /
3 accepted all the assignments that were no error (D) g
offered to him.
(A) in difficulties B7. Many astudent (A)/
(B) looking lucrative are frustrated (B) /
(C) seemingly easy because of unemployment (C) /
(D) bright career no error (D)
A 23
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g8. Beingavery (A)/
hot day | (B) /
remained indoors (C) /

no error (D)

Directions (89-92) : From the four alternatives
suggested for each guestion, choose the
correct alternative to fill in the blank.

89. There is an exception

gvery rule.
(A) for
(B) in
(C) to

(D) on

g0, Asthe newsofthe natural

spread, offers of relief poured in.

(A) calamity
(B) misery

(C) collapse
(D) misfortune

g1. The doctor

taking certain medicines.
(A)
(B)
(C)
(D)

the patient from

prescribed
proscribed
banned

prohibited

| 0 O AL R

There is wide spread
against the management over the way
they have ignored the workers' demands.
(A)

(B) sentiment

feeling

(C) resentment
(D) sadness

Direction : Choose the word opposite in
meaning to the given word.

g3. VIRTUE
(A) mischief
(B) vice
(C) dishonesty
(D) sin
Direction : Find the misspeit word.

g4. (A) breathless
(B)
(C) briliance
(D) brevity

Direction : Out of the four alternatives given.
choose the one which can be substituted for
the given words/sentence.

breakage

95. A general pardon of pofitical offenders. |
(A)
(B)
(C)
(D)

Forgiveness
Amnesty
Clemency

Generosity

Latest Sarkari Jobs, Govt Exam Results,
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Directions (96-100) : Read the passage
carefully and choose the best answer to each
question out of the four alternatives given.

Today perhaps your only association with the
word ‘polio’ is the Sabin oral vaccine that
protects children from the disease. Seventy five
years ago, this was not so. The dreaded
disease, which mainly affects the brain and
the spinal cord, causes stiffening and
weakening of the muscles, crippling and
paralysis - which is why | am in a wheelchair
toda_'_-.r. If somebody had predicted, when | was
born, that this would happen to me, no one
would have believed it. | was the seventh child
in & family of four pairs of brothers and sisters,
with a huge 23 year gap between the first and
the last. | was told that, unlike the others, | was
so fair and brown-haired that | looked more
like a foreigner than a Dawood Bohri. | was
also considered to be the healthiest of the
brood.

96. In this passage, the word ‘brood’
refers to
(A) Polio victims
(B) Foreign children
(C) Indian children
(D) Children in the family

Latest Sarkari Jobs, Govt Exam Results,
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97. In his childhood, the narrator look

“more like a foreigner than a Dawood
Bohri”, This was because he was

(A) a foreign child

(B) avery heaithy boy

(C) tall and smart

(D) fair and brown-haired

The narrator was the seventh chlldha,
family of

(A) eight children

(B) 16 children

(C) 23 children

(D) four children

In this passage, the narratoris a
patient of

(A) heart disease

(B)

polio
paralysis

(D) nervous weakness

In his childhood, the narrator was
(A) a weakling

(B) very healthy

(C) tall and sfim

(D) shortand stout

Know More
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18.
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IMPORTANT INSTRUCTIONS TO CANDIDATES
FeeraaT & fore wewrgol s

This bookiet contains 40 pages.

. Please check all the pages of the Booklet

carefully. In case of any defect, please ask the
invigilatar for replacement of the Booklet.
Directions : Each question or incomplete
statement is followad by four alternative
suggested answers or completions. In each
case, you are required fo select the one that
correctly answers the guestion or completes
the statement and blacken (@) appropriate
circle A, B, C or D by Blue/Black Ball-Paint Pen
against the question concerned in the
Answer-Sheet. (For V.H. candidates
corresponding circle will be blackened by
the scribe)

Mark your answer by shading the appropriate
circle against each guestion. The circle should
be shaded completely without leaving any space.
The correct methed of shading /s given below.
irere; Meethod !{Wrmﬁ-ﬂﬂhﬂd [Coreet et
QECoI0® 000|000

The Candidate must mark his'her responss
after careful consideration.

There is only one correct answer to each
guestion. You should blacken (@) the circle
of the appropriate column, viz., A, B, Cor D.
It you blacken (@) more than one circle
against any one guestion, the answer will be
treated as wrong. if you wish to cancel any
answer, you should completaly erase that black
mark in the circle in the Answer-Sheet and then
blacken the circle of revised respense.

. A machine will read the coded information

in the OMRB Anzwer-Sheet. In case the
infermation is incomplete/different from the
Infermation given in the application form, the
candidature of such candidate will be treated
as cancelled.

Use the space for rough work given in the
Cluestion Booklet only and not on the
Answer-Sheet.

You are NOT required to mark your answers
in this Booklet. All answers mus! be
Indicated in the Answer-Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)
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